SINGAPORE CHINESE GIRLS’ SCHOOL (PRIMARY)
PRIMARY 1 MATHEMATICS
UNIT 3 — ADDITION WITHIN 10

Name: \ ' ( ) ~ Date:

Class: Primary 1 SY/C/G/SE/P/GR - SW1.3.1

For éach question, four options are given.
Choose the correct answer and write its number in the brackets provided.

1. T S LS
Meili Jane
Meili and Jane have pencils altogether.
(1 -1 2) &
) 9 4) 4 ( )

2. Mother bought 3 apples. She bought 2 more oranges than apples.
How many oranges did she buy?

(1 1 (2) 2
3y 3 ' @) 5 ( )

3. -
Ther%;ére telephones in all.
(1) 5 2) 2

3 3 -4 8 (3
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*5.

6.

i i m e

Robin sent birthday cards to his friends in May.
He sent 2 more cards in June than in May.
How many friends celebratéd-their birthdays in June?

(1) 10 2) 2
(3) 6 4) 4 ¢ )

October November

The above shows the number of pets sold by Mr Wee in October and November.
How many_cats did he sell in the two months?

(1) 1 2 2
3y 3 (4) 4 ( )

( "

o

in a survey, 4 children chose @ to show that they liked the movie,
The number of children who did not enjoy the movie was 2 more than those who

chose @ How many children waiched the movie?

4 10 @) 2
3y © (4) 4

412"



SINGAPORE CHINESE GIRLS' SCHOOL (PRIMARY)
PRIMARY 1 MATHEMATICS
UNIT 3 - ADDITION WITHIN 10

Name: ( ) Date:

Class: Primary 1 SY/C/G/SE/P/GR SW1.3.2

Read the questions carefully.

1. Draw a line to show the two parts. Fill in the missing numbers.

(a)
& T
and ‘ majke
(b)

and make

413



2 Colour the books that have a pair of numbers that add up to 8.

Write the addition sentences for those pairs thatadd up to 8.

4147



3. Match the medals to the correct race cars.
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SINGAPORE CHINESE GIRLS' SCHOOL (PRIMARY)
PRIMARY 1 MATHEMATICS
UNIT 3 — ADDITION WITHIN 10

Name: ‘ () Date:
Class: Primary 1 SY /C/G/SE/ P/ GR
Read the questions carefully.

1. Maftch the pairs of numbers that make 8.

417



Fill in the boxes.

@ 27 .. -5 (b) 3+ =7
() 4+ =10 d) 2+ -3
(©) F3=3 ® | |+2=9
(9) +5=6 (h) r4=8

(@) Circle 3 numbers that make 5.

0 1 2 3 4 5

(b) Cross out 3 numbers that make 6.

418"



*5.

"B.

(c)

Underliﬁe 3 numbers that make 10.

(b)

10

2 more than '2 IS

3 morethan 6 is

5 morethan 1 is

3 morethan 3 is

1 more th_an is 5

3 more than is 9

‘morethan 5 is 7

morethan 3 15 4

wd
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SINGAPORE CHINESE GIRLS SCHOOL (PRIMARY)
PRIMARY 1 MATHEMATICS
UNIT 3 — ADDITION WITHIN 10

Name: ) Date:

Class: Primary 1 SY/C/G/SE/P/GR

Heuristics: Draw a diagram

Read the questions carefully.
Write your answers and working / reflections in the space provided.

*1.  Sulin puts 10 cookies on 2 plates.
There are 2 more cookies on Plate X than on Plate Y.
Draw the cookies on the plates and write fwo addition sentences.

Working / Reflections:

421



Heuristics: Guess and check

*2_ Fill in the boxes with the following numbers:
0 2 3 5 6 8

The numbers along each line must add up to 9.
Each number can be used once only.

Answer:

" Working / Reflections:

4228



SINGAPORE CHINESE GIRLS' SCHOOL (PRIMARY)
PRIMARY 1 MATHEMATICS
UNIT 3 —ADDITION WITHIN 10

Name: ( ) Date:

Class: Primary 1SY/C/G/SE/P/GR SW1.3.5

Read the questions carefully.
Write your answers in the space provided.

1. Wanyi has 5 books.
Her sister has 2 books. .
How many books do they have altogether?

Wanyi

Wanyi's sister

O
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2. Razak ate 5 apples.
Sarimah ate 3 apples more than him.
How many apples did Sarimah eat?

@mmzak

Sarimah

O

Jim lost 2 sharpeners.
He had 7 sharpeners left.

How many sharpeners did he have at first?
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Karen ate 2 gingerbread.
She had 4 gingerbread left. -
How many gingerbread did she 'have at first?

425



v R P

426




YEAR: 2014

LEVEL: Pl

SCHOOL: SCGS
SUBJECT: MATHEMATICS
SEMESTER: UNIT 3

Q1 @ @3 Q4 Q5
3 4 4 3

7. a) e 9
(®

3 and 5 make &

b)

St

6 and 4 make 10

8. colour: [3,51,{8,0],[2,6].[44]
3+5=8 §+0=28
4+5=9 2+6=8
4 +4=§ 2+7=9

9.3>1+2
352>0+5
8§2>3+5
9—=>6+3

10.3-> 5
6->2
4->4
0->8
1> 7
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11.2)3 b) 4

c) 6 d) 6
e} 0 )7
g} 1 hy4

12. al) Circle: 0, 1,4
by Crossout: 1,2, 3

13.a)4
b) 9
c)6
d) 6

14.2)4
b) 6

15.2)2
b) 1

16. X: 6 cookies
Y: 4 cookies
6+4=10
4+6=10

2+1+6=9
0+14+8=0
3+1+5=9

18.5+2=7
19.5+3=8
20.7+2=9
21.2+4=606

428°



	SCGS CT

